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Topic Background 

2.1 

Statement Reason 

𝑥𝑥 − 30° + 70° = 180° 
 𝑥𝑥 = 180° − 40° 
 𝑥𝑥 = 140° 

𝑦𝑦 = 140° 

2𝑧𝑧 = 𝑦𝑦 
2𝑧𝑧 = 140° 
𝑧𝑧 = 70° 

𝑘𝑘 = (180° − 40° − 70°) 
𝑘𝑘 = 70° 

Co-interior ⦟ DE//FG 

⦟′s on a straight line 

Alternating ⦟𝑠𝑠 (DE//FG) 

Vertical opposite ⦟𝑠𝑠 and interior ⦟′𝑠𝑠 of  ∆ 

2𝑧𝑧 

70° 40° 𝑦𝑦 

𝑘𝑘 
𝑥𝑥 − 30° 

𝐷𝐷 𝐸𝐸 

𝐹𝐹 
𝐺𝐺 
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Statement 
 

Reason 

𝑦𝑦 − 42° + 28° = 180° 

                       𝑦𝑦 = 180° + 14° 

                       𝑦𝑦 = 194° 

 

𝐴̂𝐴 = 62°    

2𝑥𝑥 − 20° = 90°  

2𝑥𝑥 = 90° + 20° 

2𝑥𝑥 = 110° 

𝑥𝑥 = 55° 

⦟’s on a Straight line 
 
 
 
 
 
Interior ⦟s of triangle 

Alternating ⦟′𝑠𝑠 (AB//CD) 

 

 

 

 

 

 

𝐶𝐶 

𝐴𝐴 

𝐵𝐵 

𝐷𝐷 
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2.3 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
Statement 
 

Reason 

𝐺𝐺� = 40° 
 
𝑥𝑥 = 80° 
 
∴ 𝐸𝐸𝐵𝐵�𝐶𝐶 = 60° 
𝑦𝑦 = 120° 
 
∴ 𝐵𝐵𝐶̂𝐶𝐹𝐹 = 30° 
𝐵𝐵𝐶̂𝐶𝐹𝐹 = 𝑧𝑧 = 30° 

Corresponding ⦟s (FG//BC) 
 
Interior ⦟s of ∆𝐸𝐸𝐸𝐸𝐸𝐸 
 
Corresponding ⦟s (FG//BC) 
⦟s on a straight line 
 
Isosceles ∆𝐹𝐹𝐹𝐹𝐹𝐹 
Alternating ⦟′s (FG//BC) 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

𝑥𝑥 

60° 

40° 
y 

z 

𝐸𝐸 

𝐹𝐹 𝐺𝐺 

𝐵𝐵 
𝐶𝐶 
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1.1.1  
 
 
 
 
 
 
 
 
 
 
 
 
 
Statement 
 

Reason 

In ∆𝐴𝐴𝐴𝐴𝐴𝐴 and ∆𝐷𝐷𝐷𝐷𝐷𝐷 
1) 𝐴̂𝐴 = 𝐷𝐷� = 90° 
2) 𝐴𝐴𝐴𝐴 = 𝐷𝐷𝐷𝐷 
3)    𝐸𝐸� = 180° − 90° − 36° = 54° 

∴ 𝐹𝐹� = 𝐸𝐸� = 54° 
 

∴ ∆𝐴𝐴𝐴𝐴𝐴𝐴 ≡  ∆𝐷𝐷𝐷𝐷𝐷𝐷  
 

 
Given 
Given 
Interior ⦟s of ∆𝐷𝐷𝐷𝐷𝐷𝐷 
Given 
 
𝐴𝐴,𝐴𝐴, 𝑆𝑆 
 

1.1.2  
 
 
 
 
 
 
 
 
 
 
 
 
 
Statement 
 

Reason 

In ∆𝐹𝐹𝐹𝐹𝐹𝐹 and ∆𝐸𝐸𝐸𝐸𝐸𝐸 
1) 𝐹𝐹𝐵𝐵�𝐸𝐸 = 𝐵𝐵𝐸𝐸�𝐶𝐶 
2) 𝐵𝐵𝐵𝐵 = 𝐵𝐵𝐵𝐵 
3) 𝐹𝐹𝐸𝐸�𝐵𝐵 = 𝐸𝐸𝐵𝐵�𝐶𝐶 

 
∴ ∆𝐹𝐹𝐹𝐹𝐹𝐹 ≡  ∆𝐸𝐸𝐸𝐸𝐸𝐸  
 

 
Alternating ⦟s (BF//CE) 
Common side 
Alternating ⦟s (BC//FE) 
 
𝐴𝐴,𝐴𝐴, 𝑆𝑆 
 

 

 

 

54° 

36° 

𝐴𝐴 

𝐵𝐵 

𝐹𝐹 𝐷𝐷 
𝐸𝐸 

𝐶𝐶 

54° 

36° 

𝐴𝐴 

𝐵𝐵 

𝐹𝐹 𝐷𝐷 
𝐸𝐸 

𝐶𝐶 

https://ecolebooks.com


4.2   
 
 
 
 
 
 
 
 
 
 
 
 
 
 
Statement 
 

Reason 

4.2.1 
2𝑥𝑥 + 𝑥𝑥 + 30° = 180° 
                   3𝑥𝑥 = 180° − 30° 
                    𝑥𝑥 = 150° ÷ 3 
                    𝑥𝑥 = 50°  
 
4.2.2 
 
In ∆𝐴𝐴𝐴𝐴𝐴𝐴 and ∆𝐸𝐸𝐸𝐸𝐸𝐸 

1) 𝐵𝐵𝐵𝐵 = 𝐶𝐶𝐶𝐶 
2) 𝐴𝐴𝐴𝐴 = 𝐷𝐷𝐷𝐷 
3) 𝐷𝐷𝐸𝐸�𝐶𝐶 = 𝐷𝐷𝐶̂𝐶𝐴𝐴 = 50° 

𝐵𝐵𝐴̂𝐴𝐶𝐶 = 𝐷𝐷𝐶̂𝐶𝐴𝐴 = 50° 
∴ 𝐷𝐷𝐸𝐸�𝐶𝐶 = 𝐵𝐵𝐴̂𝐴𝐶𝐶 = 50° 
 

∴ ∆𝐴𝐴𝐴𝐴𝐴𝐴 ≡  ∆𝐸𝐸𝐸𝐸𝐸𝐸  
 

 
Interior ⦟s of ∆𝐶𝐶𝐶𝐶𝐶𝐶 
 
 
 
 
 
 
 
Given 
Given 
 
Alternating ⦟s BA//DE 
 
 
𝑆𝑆, 𝑆𝑆,𝐴𝐴 
 

 

 

𝑥𝑥 
𝑥𝑥 

2𝑥𝑥 

30° 

𝐴𝐴 

𝐵𝐵 𝐶𝐶 

𝐷𝐷 

𝐸𝐸 
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